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QUESTION 1

Which two are valid statements about the Balance and Rule dimensions?

A. Rule names are assigned as aliases to the rule number members In the Rule dimension.

B. Data is loaded to the member Input in the Balance dimension.

C. Data Is loaded to the member Input In the Rule dimension.

D. The Balance dimension is considered a POV dimension.

E. Data for the members Allocation In and Allocation. Out are populated by Profitability and Cost Management rules.

Correct Answer: BC

QUESTION 2

After running a calculation, you are evaluating the results In the Rule Balancing screen. What can you do to Investigate
the data In more detail?

A. Click on either Allocation in or Allocation Out to open an Allocation Trace.
B. Click on a value to drill down to more detail in the Rule Balancing screen.
C. Click on a rule number to open a report showing the entire allocation flow.
D. Click on a value to open a context sensitive query in Smart View.

Correct Answer: B

QUESTION 3

Which two statements are true about model validation?

A. You cannot deploy the application if model validation returns Invalid conditions.

B. Model validation validates rules, rule sets, and dimensions.

C. Running a model validation displays an error table with Information about Invalid conditions.

D. After the application is deployed, it can detect invalid model artifacts if changes are made to dimensions.

Correct Answer: BC

QUESTION 4

Which set of items do you need to define for a custom calculation rule?
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A. Result dimension, target range, formula
B. Source, destination, offset, formula

C. Target range, formula, offset

D. Source, target range, destination, formula

Correct Answer: A

QUESTION 5

Which two are required steps In creating an allocation rule?
A. Assign the rule sequence number,

B. Create at least one global context.

C. Create a rule set for the rule.

D. Create a rule set context.

Correct Answer: CD
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